
ASSEMBLY INSTRUCTIONS
Lectern 



(x1) Spanner (x1) Allen
Key

(x1) Screw
Driver

(x4) M6 x 35
Bolt

(x4) Washer (x4) Castor(x6) M6 
Cam Bolt

Components

Hardware Pack

Top

Back Left Rail Right Rail

1

2 3

Assemble the rails. Screw in the cam bolts and castors on to the metal frame.

Assemble the Rails onto the Back board. 
Tighten the Cam locks using the Screw driver..

Fix the Top board to the frame using the bolts provided. 
Tighten with Allen Key. Fix lip to top board by 3 M4 screws.

ASSEMBLY INSTRUCTIONS

A

A

B

B

C

C

D

D

C D

Lip

(x3) M4 x 25
Screw

(x4) Cam


